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The government of a country decides
to increase the proportion of its tax
revenue that it obtains from income
tax and to reduce the proportion it
obtains from indirect taxes. Total tax
revenue is left unchanged.

What is likely to be the impact on the
distribution of income and on work

incentives?

distribution of work
income incentives
A | more equal increase
B | more equal decrease
C | lessequal increase
D | lessequal decrease
[J08/P3/Q14]

A tax is said to be regressive when

A low income eamers pay a higher
proportion of their income in tax
than high income earners.

B marginal tax rates exceed average
tax rates,

C the cost of collecting the tax
exceeds the revenue raised.

D the marginal rate of tax is higher
for high income earners than low
income earners.

[N10/P3/Q13]

Th? government of a country decides
to increase the proportion of its tax
revenue it obtains from direct taxes
ﬂgd.to reduce the proportion it
O0tains from indirect taxes.

What is likely to be the impact on the

distributj

ution of inco
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distribution ol ; .
; work incentives
income
A less equal decrease
B less equal increase
C more equal decrease
D more equal increase
[N10/P3/029]

Which tax is most likely to be
regressive?

I‘\
B a property tax
C a sales tax

D income tax

an inheritance tax

[J11/P3/025]

The government of a country decides
to increase the proportion of its tax
revenue that it obtains from indirect
taxes and to reduce the proportion it
obtains from income tax.

Total tax revenue is left unchanged.
What is likely to be the impact on the
distribution of income and on work
incentives?

distribution of’ work
income incentives
A less equal decrease
B less equal increase
C | more equal decrease
D [ more equal increase
[N11/P3/Q14]

HELPS 1o MCQ

1. B Income lax is
usually progressive and
redistributes income in
favour of poor. Whereas,
indirect taxes are regres-
sive and create disparity
of income. Therelcre, dis-
ribution of income be-
~omes fair but higher tax
rates will have a negative
offect on work incentive.

2, A Ataxissaidto
be regressive when burden
of tax (proportien of in-
some in tax) is higher on
low income earners than
high income earners.

Options B & D suggest
progressive tax while Cis

irrelevant.

3. C Incirect taxes ar
regressive in effect while
direct taxes usually are
progressive thus distribu-
tion cf income is likely to
mprove bul higher direct
taxes will have negative
sffect on work incentive.

4. C Asalestaxisthe
fixed proportion of the
price of a preduct; there-
fore it takes a larger pro-
portion of the incomes of
poor and a smaller pro-
portion of the incomes of
rich i.e. regressive.
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A8 progressive mncome tax
B a specific tax on tobaceo
C  capital gains tax

D value added tan
(N1 PIQ29)

What is most likely to be regressive?
A corporate profit taxcs

B state pension benefits

C  specific tax on cigarettes

D unemployment benefits
INI2P3Q15)

The table shows the marginal tax
rates paid by a country’s taxpayers
at different levels of income,

income tax rate
first $4000 Zero
$4001 - $20000 20%
above $20 000 40%

What correctly describes this tax?

A It is regressive over the entire
range of income.

B It is proportional over the income
range §4001 - $20 000.

C It is proportional over the range
of income above $20 000.

D Itis progressive over the range of
income above $4000.

[J13/P3/015]
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A change in the tax rate causes the
schedule to shift to NT,

How will this afTect work incentives
and the aflter-tax distribution of in-
come?

work distribution
incentives of income

A strengthen more equal
B strengthen less equal
& weaken less equal
D weaken more equal

[NI3/P3/Q14]

10. What is most likely to contribute to

households finding themselves in a
poverty trap?
A means-tested benefits
B progressive taxation
C regressive taxation
D universal benefits
[NI3/P3°Q15)

I1. A country’s government reduces the

specific tax on packets of cigarettes.

What could explain why this leads to
an increase in tax revenue {rom ciga-
rette sales?

A Consumers switch to dcarer
brands.

B The demand for cigarettes is price-
inelastic.

C  The price of cigarettes falls by
less than the reduction in tax.

D There is a reduction in illegal
imports of cigarettes.

[14/P3/013]
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hat will be the impact of an increase
in marginal tax rates?

A an increase in the propensity to
save

g an increase in the value of the
investment multiplier

a strengthening of work incen-

tives

D a strengthening in the operation

of automatic stabilisers
[J14/P3/027]

A government introduces tax incen-
tives which promote effort and enter-
prise. They also redistribute income
from those who receive a higher mar-
ginal utility from money to those with
a lower marginal utility from money.

What effect will these tax incentives
have on efficiency and equity?

efliciency equity
A increase increase
B increase reduce
C reduce increase
D reduce reduce
[N14/P3/017]

When will a society have achieved an
equitable distribution of income?

A when all individuals have equal
job opportunities

B when all workers are paid wages
equal to their marginal value prod-
uct

C  when the incomes within the so-
clety are equally distributed

D when the society believes that the
distribution of income is fair

[J15/P3/Q14]
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15. A country has a negative income tax,

fax

16.

17

In the diagram, the curve NT shows
the country’s initial tax schedule.
\

NT,

NT

/#

income

O/

A

What could cause the tax schedule to
shift to NT,?

A a higher marginal tax rate

B a more equal distribution of in-
come

C an increase in household dispos-
able income

D an increase in the marginal
propensity to consume

[N15/P3/017]

Which policy would be most effective
in achieving a more equal distribution
of disposable incomes between
households?

A government support for trade
unions

B import duties on manufactured

goods

minimum wage policy

o

D progressive income taxes
[J16/P3/017]

Which measure is least likely to help
a household out of the poverty trap?

A changing a universal benefit to a
means-tested benefit

B increasing the threshold at which
income tax is paid

C introducing a national minimum
wage

D reducing the basic rate of income

tax
[N16/P3/Q16]

HELPS bt NICQ

12. D It will help to re-
duce fluctuations in NY.
A rising MPT will act as
1 disincentive, therefore D
is incorrect. It may not re-
duce MPS, however, a
rising MPT reduces the
value of multiplier, there-
fore, A & B are incorrect.

13. B Tax incentives
will promote efficiency
while redistribution of in-
come from poor (higher
MU) to rich (lower MU)
will reduce equity.

14. D By definition.

15. A Slope of the tax
function indicates marginal
tax rate. So the higher
the slope the higher is
the marginal rale of tax.

16. D It means that the
relatively rich people pay
a higher proportion of
their income as tax as
compared to the relatively
poor people.

17. A Being on welfare
payments is least likely to
uplift economic conditions
of people. All other op-
tions suggest measures
which will increase in-
comes of relalively poor
people.

SR
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A total fax revenuc to be
E

1t expe change.

unaffected by the policy
It is concerned about. the
possibility of cmigr.ntu.m' by ‘
some high earning individuals.

It regards equity considerations
as bging more important than
efficiency ones.

It wishes to switch the emphasis
of its tax system from direct to
indirect taxation.

B

[J17/P3/Q14]

The Lorenz curves in the diagram
show different distributions of income
and of wealth.

0

% of households 160

Ix}come in a country is more equally
distributed than wealth. '

In a period the distribution of income
becomes more unequal but the

distribution of wealth becomes more
equal. N

Which movement would show the
effects of these changes‘on the
distribution of income and wealth
within the country?

e T igtribution of
e ' distribu
distribution ¢ ealth
fncome .
"N Tm curve 1| shift from curve 4
sh o
A {0 curve 2 lo curve 3
Jhifl from curve 9 | shift [rom curve 3
o {0 curve to curve 4
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» to curve 4 to curve |
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W
{o curve 3 to curve
I - ek St
[J17/P3/015]

100

% of income
or % of wealth

20. A

government wishes to discourage

tax avoidance,

Which policy to achieve this would
be an example of the behavioural ap-
proach of nudge theory?

A

B

compelling direct tax deduction by
emplayers

fnaking random inspections of
individual tax records

providing information on how the
tax is spent by the government

using penalties, such as fines and
imprisonment for tax avoidance

[J17/P3/016]

18.C Options A
clearly contragic y,,
statement, whilg Bigp,
correct  becaygy ,,

policy would encourag
emigration. '

19. A Further g Cuve
drawn on the Igft of I
degree line the morg s lhe
unfair  distribution ]
income and wealth ang
vice versa,

20. C Nudge theay
proposes positive but in.
direct suggestions to ty
and achieve non-forced
compliance of groups and
individuals. Options A8
& D suggest compliancs
by force, therefore, they
are incorrect.
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21, A tax system allows people to earn a

certain sum of income free of income
tax. On incone above this level, tax is
levied at a constant rate.

Which diagram correctly shows how
marginal and average rates of tax vary
with income?

A
A
rate X
margina
of tax ginal
average
0 income
B
A
rate
of tax
marginal
average
O income
C
A
rate
of tax
average = marginal
0 income
D
A
rate
of tax
marginal
average
O income

[NI7/P3/Q15]

22.

24

What is the best example of nudge
theory as applied to the prevention of
tax evasion?

A employing an extensive adminis-
tration to ensure detection of eva-
{on

B imposing heavy penalties to deter
oftending behaviour

C providing information to taxpay-
ers about the undesirable effects
of tax evasion

D requiring employers to inform the
tax authorities of workers’ pay

[NI17/P3/016]

In many countries it has been
observed that, when high marginal
rates of income tax imposed on richer
groups are reduced, the tax revenue
raised increases.

What is an implication of this obser-
vation?

A Government policy should aim to
minimise the income tax.

B Sales taxes arc always superior to
income taxes as a means of rais-
ing revenue for the government.

C Tax policy intended to reduce in-
come tax on the rich may make the
poor better off.

D The government should always
levy proportional rather than pro-
gressive income taxes.

[N17/P3/017]

Which tax would help a government

achieve a more equal distribution of

income after tax?

A aconstant rate sales tax applicable
to all goods and services

B a constant rate tax per person

C an income tax with a constant mar-
ginal rate over the whole income
range

D an income tax with a tax-free
allowance and a constant
marginal rate thereafter

[J18/P3/018]
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21. B Inall other
options marginal tax
rate applies to all income
levels.

22. C Options A, B
& D force the people

through administrative
requlations.
23. C Increasing lax

revenues by charging
lower tax rate will enable
the government to give
higher benefits to people.

24, D Tax free allow-
ance would eliminate tax
burden on relatively low
income groups. All other
options suggest regressive
taxation i.e. a higher tax
burden on relatively low
income groups; therefere
they are likely to lead to a
more unequal distribution
of income after tax.
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LIST QF QUESTIONS

Ql  (J13/P4/Q2)

(b) Discuss how a government might achieve
a more equal distribution of income. [13]

Q2 (N14/P4/Q6)

My higher income will make me happier. It will
make other people unhappy.

(b) Discuss whether the main aim of govern-
ment policy should be to achieve a more
equal distribution of income. [13]
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Question
how a government might achicve a morce

Discuss
equal distribution of income. [13]
[T13/P4AQ2(b)]
Essay

For any government whether the current distribu-
tion of income is desirable or not is a normative
issue. However, if the government in the office
feels that some members of society have more
money than they need, whereas other struggle to
afford even basic necessities then there is an un-
fair income inequality. Government can adopt vari-
ous measures, ranging from taxation to regulation
and welfare benefits, in order to redistribute in-
come from rich to poor.

It is mainly through taxes a government collects
money that it needs to pay for its expenditures.
Taxes can be divided into those paid directly to the
authorities (direct taxes) e.g. personal income tax,
tax on capital and wealth and those paid via a
middle person (indirect taxes). Indirect taxes in-
clude GST (general sales tax), excise and custom
duties. A tax that raises the money by taking a
larger percentage of income from the rich than the
poor is called a progressive tax. Alternatively, ifa
larger percentage of income is taken from the poor
than the rich, it is called a regressive tax and the
same percentage of income paid in tax is called pro-
portional. Thus progressive taxes have the effect
of reducing inequality while regressive taxes in-
crease it.

A government with the aim of reducing income in-
equality can tax the rich proportionately more than
the poor in order to create vertical equity. At the
same time it can enhance the personal tax allow-
ances to ensure horizontal equity. Horizontal eq-
uity entails that the size of the allowance must vary
according to the person’s circumstances. Individu-
als with more dependents, for instance, should be
entitled with higher tax allowance than the indi-
viduals with less number of dependents. Vertical
equity, on the other hand, means that the burden
of tax on different individuals with different income
should be fair. So, the redistribution effect depends
on the degree of progressiveness of the tax. The
more steeply progressive they are, the bigger is the
reduction in inequality.

On the other hand, taxes on goods and services
are generally regressive; therefore, the government
must reduce their rates. It will benefit the poor pro-
portionately more than the rich. In order to make

Topic 2.2 - page 2

them more cffective the government must cut the
rate mostly on those goods consumed relatively by
poor people.

However using taxes to redistribute income has
various limitations. First, any rigorous redistrih-
tion from rich to poor may seriously reduce growth
and efficiency by undermining work incentives.
Second, high taxes on the rich may cncourage tax
evasion or avoidance. Thus using taxes to reduce
inequality involves costs.

On the expenditure side government can usc a
range of welfare benefits. These benefits can be in
cash or in kind. Cash benefits can be further clas-
sified into means-tested or universal. Benefits such
as income support, particularly transferring income
from rich to poor are referred to as income targeted
or means-tested benefits while universal benefits
such as state pension are provided to cveryone,
irrespective of their incomes.

Alternatively benefits that individual receive not as
direct cash payments but in the form of goods and
services provided free or at subsidized rates. The
two examples in most countries are education and
health care.

Means-tested benefits are more efficient in terms
of reducing income inequality. However the gov-
ernment needs to make the procedure simple to
make it fully effective. Thus the government must
combine progressive taxation with maximum of
means-tested benefits in order to reduce income
inequality.

Other policies of government may focus on in-
creasing the earnings of those with lower incomes.
One way of tackling low incomes is to enforce mini-
mum wage rates on employers. This is seen as an
indirect way of increasing incomes of low earners.
However, the theory predicts that the policy might
lead to an increase in unemployment as firms may
choose to hire fewer workers. Similarly government
may cnact equal pay legislation particularly de-
signed to raise the wages of workers who are dis-
criminated against. Again economic theory sug-
gests that this will have the effect as the imposi-
tion of a minimum wage. Thus there is a direct
trade-off between higher pay and fewer jobs.

Alternatively government may focus on polici’ s
particularly designed to reduce unemployment. In
the long term, effective policies to reduce the totai
level of unemployment could help reduce income
inequalities. These policies include providing train-
ing in order to improve the employability of labour
- so that the unemployed have the right skills to
take up the available job opportunities.
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My higher income will make me happier. It will
make other people unhappy.

Discuss whether the main aim of government
policy should be to achieve a more equal distribu-
tion of income. [13]

[N14/P4/Q6(b)]

Essay

Traditionally, main macro-economic aims of govern-
ment policy can be seen as the achievement of full
employment, price stability, economic growth and
a balance of payments equilibrium. In addition to
these governments also aim at achieving high de-
gree of efficiency in the use of nation’s scarce re-
sources and a fairly acceptable level of distribution
of income and wealth. Though not all governments
will share these objectives, yet it is also true that
there will be trade-offs and potential conflicts be-

tween the objectives, and different governments
will attach differing priorities to them,

Firstly, it is important to keep unemployment levels
as low as possible, High unemployment is expen-
sive for the government and, therefore, for the tax-
payer. For every unemployed person, there are two
costs to the government. First, the unemployed
workers will be entitled to benefit, Secondly, there
is the less obvious cost of the loss of tax revenues,
both from direct and indirect taxes, which the work-
ers would have paid in work. Then there is the cost
to the whole economy as unemployment involves
a loss of potential output and hence lower living
standard in general, Young unemployed workers
may inflict other external costs on the

society,
crime for example.

Secondly, control of inflation is important because
if inflation gets out of control, the cconomy stops
growing. The authorities are forced to raise inter-
est rates to counter inflation. At higher interest rate
consumers stop borrowing to spend and firms also
reduce borrowing to invest. Exports become Jess
competitive and the cconomy may well drop into a
recession,

Thirdly, economic growth is a measure of rate of
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In addition to these macro-economic Objectiye
governments also aim to eliminate inefficiengiy
and inequitable distribution of income and wealth,

For any government whether the current distripy,
tion of income is desirable or not i a normalive
issue. However, if the government in the office
feels that some members of society have more
money than they need, whereas other struggle to
afford even basic necessities then there is a
unfair income inequality. Government can adopt
various measures, ranging from taxation to regule
tion and welfare benefits, in order to redistribute
income from rich to poor.

It is mainly through taxes a government collet
money that it needs to pay for its expenditures. A
tax that raises the money by taking a larger pe-
centage of income from the rich than the poor!s
called a progressive tax and it has the effect Offh:
ducing inequalities. Thus a government “”th.([m'
aim of achieving equity can tax the rich Propor:icnl
ately more than the poor in order to creat¢ ;e o
equity. At the same time it can enhance ! efin.
sonal tax allowances to ensure horizofftz.i] ::[lui\,:e
However higher tax rates can creatc a dls;nof ol
effect and therefore can reduce ‘he-levfoaﬁxll i
sumer spending and investment leading

« . ' ent.
giowth rate and a rise in unemploym
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least, it depends on the c.urr";tr instances ‘[
cconomy. In times of recession dounemp o)""";:,
priority objectives are growth an of inco™
rather than more equal diStnbunolx;r ; "'m"?&nd
times of high growth rate, hf’wﬁ\uté incom¢ d
can adopt the policies to redistri®

wealth.




